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1. (b)

EJCPEG

2. (c) Logic is as follows,
27 = 18 + 1 + 8
23 = 16 + 1 + 6
Similalry,
 = 20 + 0 + 2
 = 22

3. (c)  2. Nacho
3. Naive
5. Naked
1. Naughty
4. Nautical

4. (c)

5. (a) Fish is vertebrate Chordates
like humans.
Similarly, Cockroaches
Belong to Non- Chordates.

6. (c)
7 (G) + 12 (L) = 19 (S)
12 (l) + 14 (N) = 26 (Z)
11 (K) + 13 (M) 25 (Y)
5 (E) + 2 (B) 7 (G)

7. (b)
8. (c)
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9. (c)

 G is the wife of A.

10. (a)

8m

S

R

T

Q

P

5m 5m

9m

9m

11. (b)b i e v p w z x / b i e v p w z x /

bievpwzx

12. (b)   125   :   216

    53    :   63

Similarly,

    113  :   (11 + 1)3

1331 : 1728

13. (a)

14. (b)By options,

Option (b) will satisfy,

92 ÷ 4 × 3 = 69

23 × 3 = 69

69 = 69

15. (a) Let cost of Banana = a

\ cost of Apple = 2a + 4

And cost of Papaya =  6a +

12

Hence, Decreasing order of

their cost price = Papaya >

Apple > Banana

16. (a)

Carrom board

S 

P Q

R

So, P is opposite to Q.

17. (b)

18 (d)1, 3, 4® adjacent

1, 3, 5® adjacent
So, 5 is opposite to 4.

19. (a)
20. (a)

G is the brother's wife of N.
21. (d)
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22. (c)
23. (d) (3 + 9) 5 = 60

(6 + 7) 5 = 65
Similarly,
(9 + 12)  5 = 105

24. (c)
25. (b)

B-GENERAL AWARENESS
26. (a) The Battle of Plassey was

fought on 23 June 1757

between the British East

India Company, led by

Robert Clive, and the Nawab

of Bengal, Siraj-ud-Daulah.

This battle marked the

beginning of British political

control in India./Iyklh dk ;q¼
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23 twu 1757 dks fczfV'k bZLV bafM;k
daiuh] ftldk usr`Ro jkWcVZ Dykbo us
fd; k ] v k S j  c a x ky d s  uo kc
fljkt&mn&nkSyk ds chp yM+k x;k FkkA
;g ;q¼ Hkkjr esa fczfV'k jktuhfrd fu;a=k.k
dh 'kq#vkr dk çrhd gSA

27. (b)Wular Lake, located in Jammu

and Kashmir, is the largest

freshwater lake in India. It is

fed by the Jhelum River and

plays an important role in the

hydrology of the Kashmir

Valley./oqyj >hy] tks tEew vkSj d'ehj
esa fLFkr gS] Hkkjr dh lcls cM+h ehBs
ikuh dh >hy gSA ;g >sye unh ls
iksf"kr gksrh gS vkSj d'ehj ?kkVh dh
tyfoKku esa egRoiw.kZ Hkwfedk fuHkkrh gSA

28. (b)Fundamental Rights are

provided in Part III of the

Indian Constitution (Articles

12 to 35). These rights are

essential for the development

of individuals and are legally

enforceable by the courts./

ekSfyd vf/dkj Hkkjrh; lafo/ku ds Hkkx
III (vuqPNsn 12 ls 35) esa çnku fd,
x, gSaA ;s vf/dkj O;fDr;ksa ds fodkl
ds fy, vko';d gSa vkSj U;k;ky;ksa }kjk
dkuwuh :i ls çorZuh; gSaA

29. (c) Mother Teresa was awarded

the Nobel Peace Prize in 1979

for her humanitarian work

with the poor and sick in

Kolkata (then Calcutta).

Though born in Albania, she

became an Indian citizen and

is recognised as the first

Indian woman Nobel

laureate./enj Vsjslk dks 1979 esa
dksydkrk (rc dydÙkk) esa xjhcksa vkSj
chekjksa ds lkFk muds ekuoh; dk;Z ds
fy, ukscsy 'kkafr iqjLdkj ls lEekfur
fd;k x;k FkkA ;|fi mudk tUe
vYckfu;k esa gqvk Fkk] mUgksaus Hkkjrh;
ukxfjdrk çkIr dh vkSj mUgsa igyh
Hkkjrh; efgyk ukscsy iqjLdkj fotsrk ds
:i esa ekU;rk çkIr gSA

30. (c) The chemical symbol Na for

sodium comes from its Latin

name "Natrium". It is a soft,

reactive metal belonging to

the alkali metal group in the

periodic table./lksfM;e dk
jklk;fud çrhd Naa blds ySfVu uke
"uSfVª;e" ls vk;k gSA ;g ,d uje]
çfrfØ;k'khy /krq gS tks vkorZ lkj.kh
esa {kkjh; /krq lewg ls lacafèkr gSA

31. (c) The Tropic of Cancer (23.5°

N latitude) passes through

8 Indian states: Gujarat,

Rajasthan, Madhya

Pradesh, Chhattisgarh,

Jharkhand, West Bengal,

Tripura, and Mizoram.

Odisha is not one of them./

ddZ js•k (23-5° mÙkjh v{kka'k) Hkkjr
ds 8 jkT;ksa ls gksdj xqtjrh gS% xqtjkr]
jktLFkku] eè; çns'k] NÙkhlx<+] >kj•aM]
if'pe caxky] f=kiqjk vkSj fetksjeA
vksfM'kk buesa ls ,d ugha gSA

32. (b)The Sarnath Pillar, also

known as the Ashokan

Pillar, was erected by

Emperor Ashoka in

Sarnath, where Buddha

gave his first sermon. The

pillar features the famous

Lion Capital, which is now

the National Emblem of

India./lkjukFk LraHk] ftls v'kksd
LraHk ds uke ls Hkh tkuk tkrk gS]
lezkV v'kksd }kjk lkjukFk esa LFkkfir
fd;k x;k Fkk] tgk¡ cq¼ us viuk
igyk mins'k fn;k FkkA bl LraHk esa
çfl¼ flag LraHk gS] tks vc Hkkjr
dk jk"Vªh; çrhd gSA

33. (d)The liver plays a major role

in detoxifying harmful

substances from the blood.

It also performs other

important functions such

as producing bile for

digestion, storing nutrients,

and regulating metabo-

lismbut detoxification is

one of its primary roles./

;Ñr (fyoj) jDr ls gkfudkjd
inkFkks± dks fo"kgj.k (fMVkWDlhfiQds'ku)
djus esa çeq• Hkwfedk fuHkkrk gSA ;g
ikpu ds fy, fiÙk dk mRiknu] iks"kd
rRoksa dk HkaMkj.k vkSj p;kip; dks
fu;af=kr djus tSls vU; egRoiw.kZ dk;Z
Hkh djrk gS] ysfdu fo"kgj.k bldh
çkFkfed Hkwfedkvksa esa ls ,d gSA

34. (b)The Green Revolution refers

to the set of initiatives and

technolo-gical advance-

ments in agriculture,

particularly in the 1960s and

1970s, aimed at increasing

food production. This was

achieved through the use of

highyielding variety (HYV)

seeds, chemical fertilizers,

pesticides, and improved

ir r igat ion techniques./ gfjr
Økafr Ñf"k esa igy vkSj rduhdh çxfr
dk ,d lewg gS] fo'ks"k :i ls 1960
vkSj 1970 ds n'kdksa esa] ftldk mís';
•k| mRiknu esa o`f¼ djuk FkkA ;g
mPp mit okyh fdLeksa (HYV) ds
chtksa] jklk;fud moZjdksa] dhVuk'kdksa
vkSj mUur flapkbZ rduhdksa ds mi;ksx
ds ekè;e ls çkIr fd;k x;k FkkA

35. (b)Bharatanatyam is a classical

dance form that originated in

Tamil Nadu, India. It is

known for its grace,

storytelling through facial

expressions, and intricate

footwork. It is one of the

oldest classical dance forms

in India./HkjrukVÔe ,d 'kkL=kh;
u`R; 'kSyh gS ftldh mRifÙk Hkkjr ds
rfeyukMq esa gqbZ FkhA ;g viuh lqanjrk]
psgjs ds Hkkoksa ds ekè;e ls dgkuh
dgus vkSj tfVy iSjksa ds dke ds fy,
tkuh tkrh gSA ;g Hkkjr ds lcls iqjkus
'kkL=kh; u`R; 'kSfy;ksa esa ls ,d gSA

36. (a) The Reserve Bank of India

(RBI) was established on

April 1, 1935, under the

Reserve Bank of India Act,

1934. It was set up as the

central banking institution

in India to regulate the

monetary policy and manage

the currency and credit

system./Hkkjrh; fjtoZ cSad (RBI)

dh LFkkiuk 1 vçSy 1935 dks Hkkjrh;
fjtoZ cSad vf/fu;e] 1934 ds rgr
dh xbZ FkhA bls Hkkjr esa ekSfæd uhfr
dks fu;af=kr djus vkSj eqæk ,oa ½.k
ç.kkyh dk çca/u djus ds fy, dsaæh;
cSafdax laLFkk ds :i esa LFkkfir fd;k
x;k FkkA
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37. (b)Palaeontology is the

scientific study of fossils and

ancient life forms. It helps in

understanding the history of

life on Earth through the

examination of plant and

animal fossils, which are

preserved in rocks./

iSfy;aVksykWth thok'eksa vkSj çkphu thou
:iksa dk oSKkfud vè;;u gSA ;g ìFoh
ij thou ds bfrgkl dks le>us esa
enn djrk gS] ftlesa pêðkuksa esa lajf{kr
ikS/ksa vkSj tkuojksa ds thok'eksa dh
tkap dh tkrh gSA

38. (b) "Arthashastra" is an ancient

Indian treatise on statecraft,

economic policy, and

military strategy, written by

the scholar and philosopher

Chanakya, also known as

Kautilya. He was a key

advisor to the Maurya

Empire and played an

important role in the rise of

Chandragupta Maurya./

"vFkZ'kkL=k" ,d çkphu Hkkjrh; xzaFk gS
tks jkT; lapkyu] vkfFkZd uhfr vkSj
lSU; j.kuhfr ij vk/kfjr gSA bls fo}ku
vkSj nk'kZfud pk.kD;] ftUgsa dkSfVY;
ds uke ls Hkh tkuk tkrk gS] us fy•k
FkkA os ekS;Z lkezkT; ds çeq• lykgdkj
Fks vkSj paæxqIr ekS;Z ds mn; esa egRoiw.kZ
Hkwfedk fuHkkbZ FkhA

39. (b)The pH value of pure water

is 7, which is considered

neutral. A pH value below 7

indicates acidity, while a pH

value above 7 indicates

alkalinity./'kq¼ ty dk pH eku
7 gksrk gS] ftls rVLFk ekuk tkrk gSA
pH eku 7 ls de gksus ij vEyh;rk
vkSj 7 ls vf/d gksus ij {kkjh;rk dks
n'kkZrk gSA

40. (c) Carbon dioxide (CO
2
) is a

major greenhouse gas that

contributes to global

warming by trapping heat in

the Earth's atmosphere.

Other greenhouse gases

include methane, water

vapour, and nitrous oxide./

dkcZu MkbvkWDlkbM (CO
2
) ,d çeq•

xzhugkml xSl gS tks i`Foh ds ok;qeaMy
esa xehZ dks iQ¡lkdj oSf'od rkio`f¼
esa ;ksxnku nsrh gSA vU; xzhugkml xSlksa
esa ehFksu] tyok"i vkSj ukbVªl vkWDlkbM
'kkfey gSaA

41. (a) Aryabhata was India's first

satellite, launched on April

19, 1975, by the help of

Soviet Union. It marked a

significant milestone in

India's space programme.

The satellite was named after

the ancient Indian

mathematician and

astronomer Aryabhata./

vk;ZHkêð Hkkjr dk igyk mixzg Fkk]
ftls 19 vçSy 1975 dks lksfo;r la?k
ds enn ds }kjk ç{ksfir fd;k x;k FkkA
;g Hkkjr ds varfj{k dk;ZØe esa ,d
egRoiw.kZ ehy dk iRFkj FkkA bl mixzg
dk uke çkphu Hkkjrh; xf.krK vkSj
•xksy'kkL=kh vk;ZHkêð ds uke ij j•k
x;k FkkA

42. (b)The power to amend the

Constitution of India is

vested in the Parliament

under Article 368.

Amendments can be made

by Parliament with the

approval of a special

majority. In certain cases,

amendments also require

the approval of the states./

Hkkjrh; lafo/ku esa la'kks/u djus dh
'kfDr laln ds ikl gS] tks vuqPNsn
368 ds rgr fufgr gSA laln fo'ks"k
cgqer ls la'kks/u dj ldrh gS] vkSj
dqN ekeyksa esa jkT;ksa dh eatwjh Hkh
vko';d gksrh gSA

43. (c) Kharif crops are those that

are grown during the

monsoon season in India

(June to September). Rice is

one of the main Kharif crops,

along with others like maize,

cotton, and sugarcane.

Wheat and barley are Rabi

crops, grown in the winter

season./•jhiQ iQlysa os gksrh gSa
tks Hkkjr esa ekulwu ds ekSle (twu ls
flracj) ds nkSjku mxkbZ tkrh gSaA pkoy
•jhiQ iQlyksa esa ls ,d çeq• iQly

gS] vU; esa eDdk] dikl vkSj xUuk
'kkfey gSaA xsgwa vkSj tkS jch iQlysa gSa]
tks lfnZ;ksa ds ekSle esa mxkbZ tkrh gSaA

44. (b)The Great Barrier Reef is the

world's largest coral reef

system, located off the

northeastern coast of

Australia, in the Coral Sea.

It is a UNESCO World

Heritage Site and one of the

most famous natural

wonders of the world./xz sV
cSfj;j jhiQ nqfu;k dh lcls cM+h ewaxk
jhiQ ç.kkyh gS] tks vkWLVªsfy;k ds
mÙkj&iwohZ rV ds ikl dksjy lkxj esa
fLFkr gSA ;g ,d ;wusLdks fo'o /jksgj
LFky gS vkSj nqfu;k ds lcls çfl¼
çkÑfrd peRdkjksa esa ls ,d gSA

45. (a) The unit of magnetic flux

density, also known as the

magnetic field strength, is

the Tesla (T). One Tesla is

equal to one Weber per

square meter. The Weber

(Wb) is the unit of magnetic

flux./pqacdh; ÝyDl ?kuRo dh bdkbZ
VsLyk (T) gS] ftls pqacdh; {ks=k dh
rhozrk ds :i esa Hkh tkuk tkrk gSA ,d
VsLyk ,d oscj çfr oxZ ehVj ds
cjkcj gksrk gSA oscj (Wb) pqacdh;
ÝyDl dh bdkbZ gSA

46. (b)The international organiz-

ation that released a report

in April 2025 highlighting

the increasing global risk of

water scarcity due to climate

change and population

growth is United Nations

Environment Programme

(UNEP). This report

emphasizes the urgent need

to address water scarcity

issues exacerbated by

climate change and growing

populations./la;qDr jk"Vª i;kZoj.k
dk;ZØe (UNEP) us vçSy 2025 esa
,d fjiksVZ tkjh dh] ftlesa tyok;q
ifjorZu vkSj tula[;k o`f¼ ds dkj.k
c<+rs oSf'od ty ladV ds tksf•e
dks mtkxj fd;k x;kA bl fjiksVZ esa
ty ladV dh xaHkhjrk vkSj blds
lekèkku dh vko';drk ij cy fn;k
x;k gSA
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47. (b)The UK has indeed set a target

to ban the sale of new petrol

and diesel cars and vans by

2035 as part of its efforts to

achieve net-zero emissions.

While other countries also

have similar goals, the UK has

made this specific

announcement for 2035./;wds
us 2035 rd u, isVªksy vkSj Mhty dkjksa
vkSj oSu dh fcØh ij çfrca/ yxkus dk
y{; fu/kZfjr fd;k gS] rkfd 'kwU;&mRltZu
y{; çkIr fd;k  tk ldsA gkykafd] dqN
gkbfczM okguksa dks 2035 rd fcØh dh
vuqefr nh xbZ gSA

48. (b)Operation Muskan is an

initiative focused on the

rescue and rehabilitation of

missing children in India. It

involves nationwide efforts to

locate and reunite missing

children with their families./

vkWijs'ku eqLdku Hkkjr esa ykirk cPpksa
dh •kst vkSj iquokZl ij dsafær ,d
igy gSA blesa ykirk cPpksa dks <wa<+us
vkSj mUgsa muds ifjokjksa ls iqu% feykus
ds fy, jk"VªO;kih ç;kl 'kkfey gSaA

49. (b)The Davis Strait proto-

microcontinent is a recently

discovered geological

formation located between

Canada's Baffin Island and

Greenland. It consists of

unusually thick continental

crust, a remnant of ancient

tectonic activity./Msfol LVªsV
çksVksekbØksdkWfUVusaV ,d gky gh esa •kstk
x;k HkwoSKkfud xBu gS] tks dukMk ds
ckfiQu }hi vkSj xzhuySaM ds chp fLFkr
gSA ;g eksVh egk}hih; ijr ls cuk gS
vkSj çkphu VsDVksfud xfrfof/;ksa dk
vo'ks"k gSA

50. (b) ISRO successfully tested a

new indigenous material for

the nozzle divergent of the

PSLV (Polar Satellite Launch

Vehicle) fourth stage (PS4) in

April 2025. The material was

developed to improve

performance and reduce

costs./ISRO us vçSy 2025 esa
PSLV (iksyj lSVsykbV ykWUp Oghdy)

ds pkSFks pj.k (PS4) ds uksty MkbotZsaV
ds fy, ,d u;k Lons'kh lkexzh
liQyrkiwoZd ijh{k.k fd;kA

gSAgS C - QUANTITATIVE APTITUDE
51. (a) Let, No of items = 100

C.P of each item = 1
And S.P of each item = a
ATQ,
75a - 100 = 20
75a = 120
a = 1.6

 Mark up %

 
(1.6 - 1)

= ×100 = 60%
1

52. (c) (260  5), (855  5), (1229  5)
= 255, 850, 1224
H.C.F of these Numbers = 17
So, 17 is the Required Number.

53. (a) Required %

 65+45 275 5
= ×100= =30 %

360 9 9

 
  

54. (d) Total number of voters =
18,400
Total number of valid votes

18400×95
= =17480

100
 Candidate votes

17480×75
= =13110

100
55. (a) Curved surface of vessel

222
rl ×28 18 1584 cm

7
    

 Cost of painting = 1.25 ×
1584 = 1980

56. (c) P + Q 
Q + R 24
R + P 20

30



4
5
6

120

Total 
work

(Efficiency)

 Efficiency of P+Q+R

 4 5 6
7.5

2

 
 

Hence, Efficiency of P = 7.5 – 5
= 2.5
Work done by P, Q and R in 10
days = 7.5 x 10 = 75
i.e Remaining work (done by P
only) = 120 - 75 = 45
Time taken by P to done the
remaining work

45
= =18 days

2.5

57. (a) Given, (1+ cos4A - sin4A)
sec2A

= (sin2A + cos2A + cos4A -

sin4A)sec2A
= (sin2A - sin4A + cos2A +

cos4A)sec2A
= [sin2A(1 - sin2A ) + cos2A(1

+cos2A)]sec2A
= [sin2Acos2A + cos2A(1 +

cos2A)]sec2A
= [cos2A(sin2A + 1 + cos2A)] sec2A
= (cos2A × 2)sec2A = 2

58. (c) Income          12000     15960

Expenditure 9960   9960



 

:

:
Savings         2040 :     6000

Required ratio 2040 :     6000
                       = 17 : 50



Rahim Ami

59. (d) If an amount of Rs. 160
becomes Rs. 192 in 2 years,

 Interest in 2 years = 192 -
160 = 32

Hence, 
 160 R 2

32
100

 


R = 10%
So, amount of Rs. 39000
after 5 years

 39000 10 5
39000 58500

100

 
  

60. (b) 23 - [13.8 - {6.5 - (5.4 - 9.3 -
4.8)}]

= 23 - [13.8 - {6.5 - (5.4 -
14.1)}]

= 23 - [13.8 - {6.5 + 8.7}]
= 23 - (13.8 - 15.2)
= 23 + 1.4 = 24.4

61. (c) Compound Interest
3

R
P 1 –  P

100

 
  

 

3
109

100000 – 100000
100

 
  



= 129502.9 - 100000

= 29502.9  29503

62. (a) We know that, length of arc

l = r ( is in radian)

22 1
33 r 135 ×

7 180
  

 r = 14

63. (a) L.C.M of fractions

 
 

L.C.M of  Numerator

H.C.F of  Denominator


 L.C.M of 39, 13, 21 = 273

And H.C.F of 2, 8, 4 = 2

Hence, Required L.C.M 
273

2

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64. (b) We know that,

M.P 100 P%

C.P 100 D%






160 100 P%

100 100 30






160 100 P%

100 70




112 100 P% 

P% 12% 

65. (c) Here, 
AD AE

AB EC


So, DE||BC (Basic
Proportionality theorem)

If, BC = 49 cm

Then, 
1

DE ×49 7 cm
7

 

66. (d) Let, each equal angle = a

By, angle sum property of
triangle,

a + a + 75 = 180

a = 52.50

67. (c) Ratio of salaries:-

A    :    B     :     C

     6          7           9

Ratio after increment:-

A      :      B      :     C

6×135%   7×125%    9×105%

 162   :   175   :   189

68. (a) Average Speed

 
 

1 2

1 2

2s s

s  s




 2 17×23

40




= 19.55

69. (b)

So, Efficiency of C = 10 – (4 + 5) = 1
So, Total Time Taken by C to
Complete the work

100
100

1
  days

70. (d) Given, x + y + z = 8, On
squaring both sides
(x + y + z)2 = 64
x2 + y2 + z2 + 2xy + 2yz + 2zx =

64
20 + 2(xy + yz + zx) = 64

 xy + yz + zx = 22
Now, we know that, x3 + y3

+ z3 -3xyz = (x + y + z)( x2 +
y2 + z2 - xy - yz - zx)

= (x + y +z)[ x2 + y2 + z2 - (xy +
yz + zx)

= (8)(20 - 22) = – 16
71. (c) Given, 63 × (122 – 82 – 40) ÷ 2 –54

 144 – 64 – 40
216 – 625

2
 

= 216 × 20 – 625
= 4320 – 625 = 3695

72. (d) Total Surface area of
Hemisphere = 3r2 = 1848 cm2

So, r = 14
ATQ,

2
14 14 14

3
    

1
14 14 h

3
     

 h = 28 cm

73. (b) Given, 7sin2   + 3 cos2   =
4

7 sin2   + 3 (1-sin2  ) = 4

7 sin2   + 3-3 sin2   = 4

4 sin2   = 1

sin2  = 
1

4

sin   = 
1

2
,

1

2


 [Not possible]

(0   
2


)

Hence,   = 300

 Tan   = tan 300 = 
1

3

74. (d) Let, PA = a
We know that,
PT2 = PA x PB

2 6( )6 6  a 3 

a = 6
So, AB = PB - PA
AB = 36 - 6 = 30 cm

75. (c) LetÐ B = a

So,Ð B = Ð BAD = a

Ð ADC = a + a = 2 a (Exterior
Angle Property)

Ð ADC = Ð ACD [AD = AC]
2+ 2 = 108°(Exterior
Angle Property)
4 = 108°

2 = 54°

D-ENGLISH COMPREHENSION

76. (a) even worse

“Worse” is the correct

comparative form of “bad”

The word “even” is an

adverb that intensifies the

compa-rison. 'Than' is

preceded by comparative

degree.

77. (c) Scintillating (pednkj)

means brilliantly lively,

exciting, or witty.

Exhilarating (mRlkgo/Zd)

means making one feel very

happy, animated, or elated.

Appealing (vkd"kZd) means

attractive or interesting.

Mundane (lkekU; @ uhjl)

means lacking interest or

excitement; dull.

Imploring (fourhi w . k Z )

means begging someone

earnestly or desperately to

do something.

78. (d) Evade (cp fudyuk) means

to escape or avoid

something, especially by

cleverness or trickery.

Similarly, Circumvent

(pkykdh ls cp fudyuk)

means to find a way around

an obstacle or rule, often

dishonestly or cleverly.

Explain (le>kuk) means to

make something clear or

easy to understand.

Interpret (O;k[;k djuk)

means to explain the

meaning of something.
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Stop (jk sduk) means to

bring something to an end

or prevent it from

continuing.

79. (c) The correct form should be

“of walking to improve

glucose control” because

after “to,” the base form of

the verb (also known as the

infinitive form) (i.e.,

“improve”) should be used.

80. (b) Magnifiecent – Incorrect;

the correct spelling is

Magnificent, which means

grand, splendid, or

impressive.

Ancestral – Correct

spelling; it refers to

something related to one’s

ancestors or family history.

Essential – Correct

spelling; it means

absolutely necessary or

very important.

Palatial – Correct spelling;

it means resembling a

palace, large, and

magnificent.

81. (d) Brevity (laf{kIrrk) means

the quality of being brief

and concise in speech or

writing. Its opposite is

Verbosity (cgqr yach ckr

djuk), which means the

quality of being wordy or

using more words than

necessary.

Concision (laf{kIrrk) means

being brief and to the point.

Economy (fdiQk;r) refers

to efficiency in careful

spending of money.

Terseness (laf{kIrrk) means

using few word.

82. (a) Commensurate (ftldk

vkdkj] ek=kk] xq.koÙkk ;k vuqHko leku

gks) refers to something that

corresponds in size, degree,

quality, magnitude, or

experience to something else.

Commemorate (;kn djuk)

means to honour or

remember an event or

person, especially with a

ceremony or a special action.

Complaisant (vknj'khy)

refers to someone who is

willing to please others or

is obliging in nature.

Comprehensible (le> esa

vkus okyk) means something

that is easy to understand

or clear.

83. (d) The correct order is SQRP.

 S introduces the main

concern: “Among the major

concerns surrounding...”

Q follows by explaining what

that concern is:

“...reopening of schools is

the possible transmission

of the virus.”

R elaborates on the effects:

“...on campuses, with

implications for...”

P completes the idea by

focusing on the specific

group affected:

“...vulnerable individuals in

the students’ home.”

84. (d) Ramesh was tired as he

had been running for the

last two hours.

The past perfect

continuous tense is used

to show that an action was

ongoing in the past before

another action occurred.

In this case, “had been

running” is the past

perfect continuous form,

indicating that Ramesh

was running continuously

for two hours before he

became tired.

85. (d) Active Voice:

Are fossil fuels (subject)

not impacting (present

continuous verb) human

health (object)?

Passive Voice: Is/Are +

object + being + past

participle + (by + subject)?

Is human health (object)

not being impacted

(passive verb) by fossil

fuel (subject)?

86. (a) The correct order is BADC.

 B introduces the purpose

of World Wetland Day.

 A provides the historical

context of the Ramsar

Convention.

 D explains the significance

of the Ramsar Convention.

 C highlights the alarming

decline of wetlands.

87. (b) The correct spelling is

Autonomous (Lok;Ù k)

which means having the

ability to make decisions
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and govern oneself

independently, without

external control

88. (b) Silhouette (vkÑfr] Nk;k)

refers to the dark shape and

outline of something visible

against a bright background.

Mirage (ex̀r`".kk) means an

optical illusion, typically in
a desert, where distant
objects appear distorted or
like water.

Image (fp=k) refers to a

visual representation of

something, either in a

photograph, painting, or

other medium.

Shadow (Nk;k) refers to a

dark shape formed when an

object blocks light from a

source.

89. (a) Explicit (Li"V)  means

something that is clearly

stated or easy to

understand, with no

ambiguity. Its opposite is

Ambiguous (vLi"V), which

means something that is

unclear or open to multiple

interpretations.

 Exact (lVhd)  means

something that is

completely accurate or

precise.

 Precise (Li"V)  means

something that is detailed

and exact.

 Distant (nwj) means far

away, either physically or

figuratively, and doesn’t

relate to clarity in meaning.

90. (a) by and large

 “By and large” means

generally or mostly. So the

sentence would mean that,

generally, the tribals of India

are still a neglected lot.

91. (c) Active Voice: Subject +

has/have + past participle

(verb) + object

The new government

(subject) has given (verb) a

guarantee (object) to make

the long-promised

reforms a reality

(additional information).

Passive Voice:

A guarantee (object) has

been given (passive verb)

by the new government

(agent/subject).

92. (b) would not have been

Conditional Structure

(Third Conditional): If +

past perfect, would have +

past participle

93. (a) Contemptible (?k`.kkLin)

means deserving hatred or

scorn; despicable.

Similarly, Abhorrent

(f?kukSuk) means inspiring

disgust and loathing;

repugnant

Admirable (ljkguh) means

deserving respect or

approval.

Adamant (<hV)  means

refusing to be persuaded or

to change one’s mind.

Ambiguous (vLi"V) means

open to more than one

interpretation; not clear.

94. (d) The correct phrase is

“Comply with” means to

follow or obey a rule,

request, or command

95. (a) how sturdy it was

In indirect speech the

structure is: question

word + subject + verb

96. (a)

97. (d)

98. (c)

99. (d)

100.(c)

ANSWER KEY

1. (b)

2. (c)

3. (c)

4. (c)

5. (a)

6. (c)

7. (b)

8. (c)

9. (c)

10. (a)

11. (b)

12. (b)

13. (a)

14. (b)

15. (a)

16. (a)

17. (b)

18. (d)

19. (a)

20. (a)

21. (d)

22. (c)

23. (d)

24. (c)

25. (b)

26. (a)

27. (b)

28. (b)

29. (c)

30. (c)

31. (c)

32. (b)

33. (d)

34. (b)

35. (b)

36. (a)

37. (b)

38. (b)

39. (b)

40. (c)

41. (a)

42. (b)

43. (c)

44. (b)

45. (a)

46. (b)

47. (b)

48. (b)

49. (b)

50. (b)

51. (a)

52. (c)

53. (a)

54. (d)

55. (a)

56. (c)

57. (a)

58. (c)

59. (d)

60. (b)

61. (c)

62. (a)

63. (a)

64. (b)

65. (c)

66. (d)

67. (c)

68. (a)

69. (b)

70. (d)

71. (c)

72. (d)

73. (b)

74. (d)

75. (c)

76. (a)

77. (c)

78. (d)

79. (c)

80. (b)

81. (d)

82. (a)

83. (d)

84. (d)

85. (d)

86. (a)

87. (b)

88. (b)

89. (a)

90. (a)

91. (c)

92. (b)

93. (a)

94. (d)

95. (a)

96. (a)

97. (d)

98. (c)

99. (d)

100.(c)
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